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Mathematics Mega Quiz For RRB NTPC (Solutions)

$1. Ans.(c)
Sol.

ATQ.

w20 B0 B — 6100
100 100 100

x = 50000

S$2. Ans.(a)
Sol.

ATQ.
117x Blx
100 100
x = 450

= 162

S$3. Ans.(d)
Sol.

115

Required S.P. of 150 pens = 150 % 12 x oo = 2070

30x12x110

5.P. of first 50 pens = ——— = 660

100

. Req. 5.P.of 100 pens = 2070 — 660 = 1410

C.P.of 100 pens=1200

: L 18 —17%L
Gain% = 200 100 1?2%
S4. Ans.(d)

Sol.
__20x20 _ .,
loss percent = i 400
$5. Ans.(b)
Sol.
40

gain percent = _5:5 * 100 = 60%

2
$6. Ans.(b)
Sol.

ATQ.
X 2xZx2=¢00
5 5

=

x = 500
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S$7. Ans.(d)

Sol.
ATQ.
-2 2w > 120 = 1400
5 5 100
x = 2000

Expenditure on transport = % * 2000 = 80

$8. Ans.(b)
Sol.
Women = E % 311250 = 161250

Men =311250 — 161250 = 150000

Total number of literate person = % + 150000 x %
= 48900

$9. Ans.(a)

Sol.

Percentage of passed candidates = 100 — (52 + 42 — 17)
=23

$10. Ans.(c)
Sol.
ATQ.
50—40%
x( 100 ) =298
x = 1490
$11. Ans.(c)
Sol.
A
P
[5 L
B ————C
. 138
; _ 1
anao = c
4193
secff =
12

tan B = \/sec?p — =Jﬁ—1=\]”3‘““= |2 tanB=7/12

144
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In AABC

tano =2 P =£||P=°c+138
5’ x+138 5 5
tan 8 7
anf = —
12
P_ 7 T
% 12’P 1::{ U']
From (i} & (ii)
?x_x+138
12 5

Jox=12x+ 138 x 12
23x=138 X 12 x=72

P=—x72
12
=42

$12. Ans.(b)
Sol.

LY,

2— \E =

X + 48
P=(2-/3) (x+48) i)
In ADCE
tan 30° = P/x
==Ip=% li)
From (i} & [ii)

(2-V3)(x+48) =

(2V3—-3)(x+48) =x

(2V3—3)x+48(2v3-3) =x

x(2v3-3-1) = —48(2v3-3)

x(2—3) = 24(2V3 - 3)
_2443(2-3)

2 x = 2443 meter

2—4/3

l

Height of Tower = 24
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$13. Ans.(a)

Sol.
A
X
ES B
h
pAL C
In AABE
tanx = — , BE = — i)
EE Tanx
In AADC
_x+h .
tany = —— i)
DC=BE
From (i) & {ii)
x+h X
tany = —x Jtanya=x+h

tAnx
xtanvcotx—x=h
x(tanycotx—1)=h
h
xX=—
tanycotx—1
Height of the Building

h h
=X+h=—+]1=w+h
tanycotx—1 -1
caty
coty h +h= cotyh+cotxh—cotyh _  heotx

cotx—coty cotx—coty cotx—coty

S$14. Ans.(d)
S?u,l'

In AABD
h 1
X + 20 - \,"'E
_x+20 .
==z el

In AABC

h
tan 45°% = —
X
h=x o i1)
x+ 20
X:
V3
V3x=x+20
x(vV3—1)=20
20 20
= - 3
x= = ®XV3+1
=10(V3+1)

h = 10(\-‘% + 1) m
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$15. Ans.(b)
Sol.

30°

108

plAso° el

In AAEB

X
— = tan 30°
EBE

/3 = EB
In AADC

108
— = tan 60°
DC

2 — J3(~DC=EB)

xv'3

3w =108

*» =30

Height of other Post = 108 — 36
=72

$16. Ans.(a)

Sol.
A D

In AABC

tan 30° = —

K1
% =3 i)
In ADCE

h
tan 60 = —
Hz

h
X
h ,
X == i)

Adding (i) & (il

V3=

ba

¥ + % = hy3 +

&
@l =

wi]

100 = ) h =25y

)
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$17. Ans.(b)

Sol.
A
y
B
h
455
C D
PT'
In &ACD
h +
tan 45° = Y
z
z=h+y el
In ABCD
tanx® =—

z
z=hcotx" welil)
From (i} & [ii)
h+y=hcotx”
y=hcotx—h
$18. Ans.(c)

Sol.

D

In AADC
1 h

'..,"_E_ x+ 20
x40
- V3

In ABDC

h
tan 60° = —
X
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$19. Ans.(c)

Sol.
A
30°
-
C
N
tan 30° AB
dan = —
83
AR =8
ACT=g4 + 192
ACT =256
AC =16
Height of post =16+ 8
=24dm
$20. Ans.(c)
Sol.
A
10
1 30°
B C
AB/BC =tan 30°
10 1
TN BC =10v3m
$21. Ans.(c)
Sol.
x> +3x-18

=x>+6x-3x-18

e s RRB NTPC 2019
= (x-3) (x+6) PRIME PACKAGE

$22. Ans.(d) 100 + TOTAL TESTS

Sol. 40 Full Length Mocks

Time = Distance/Relative speed 30 Section Wise Tests
44/60=x/39 10 Previous Years papers
(44x%39)/60=x 20 +Topic Wise tests

28.6 km = x eBooks
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$23. Ans.(a)
Sol.

x° - (sum of roots) x + product of the roots = 0

xX-(-7)x+12=0
X+ Tx+12=0

S$24. Ans.(d)
Sol.

Effective discount
=-20-10+2
= 2804

$25. Ans.(b)
Sol. 2530/1430
=23/13

$26. Ans.(b)
Sol.

Sx-3=23+x/2
ldx-6z6+x
9x =12
xz4/3
x=1.33 ..(i)
dx-2=6+x
3x=8
x<8/3
x<2.66 ..(ii)
from (i) & (ii)
1.33=x= 2066

x=2

$27. Ans.(a)
Sol.
Istterm =32

Last term = -43

Sum=n/2 [1st term+last term]
-88=n/2 [32-43]

-176=n[-11]

n=16
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$28. Ans.(a)

Sol. If difference of S.I & C.I for 2 years is given than we can use the following formula
C.I-5.I=P(R/100)*

81=(P=x18x18)/10000

P=Rs 2500

$29. Ans.(a)

Sol. Points (12,-1) & (-3, 4)

if the line segment joining above points is divided by y axis then x = 0
Let it divides it is the ratiom : n

x=(mx+nx;)/(m+n)

0=(m(-3)+12n)/(m+n)

Jm=12n

m:n=4:1

$30. Ans.(b)

Sol.

Slope of line passing through (4, 3] (v, 0] is
ml={ya-y1)/(x2-31)

=(0-3)/(v-4)

=(-3)/(v-4)

Slope of line passing through (-1, -2) (3, 0) is
m2=(yz2-v1)/ (x2-x1)

=(0-(-2))/(3-(-1))

=2/4

If two lines are parallel then, there slopes we equal
m; = m;

(-3)/(v-4)=1/2

6=y-4

},r:—Q.
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